JK & BE N T A
FREISARH Y H— pW

754 R1=vy rNF3-25F8 & UNMFAxT it BABC(&)CK

B

O=UHIR=E
@V—/)LFv S 2E{EHAAHE
OBRBXMES

O /51 THA XHBEF15—FHA >

TRBRM

BEIIVAA4 TEICTEDKRILE—

BAHRIZIECEY—ILFYTISARAYE—

BEEITHE L300 Y—ILFy TRILE —
Y—ILFyvTERLCIFEARICHIGLET,

T5ARBH Y2 —

N—RHRNF—

Y—IF v THRILE—30 @

EOEHEEFER ISARA YA —IZHENTERIEI2HNENDTRA MRETR MEREHREZ., HFHIE
BISARAVA—FBEARLELI. COY—ILIZ/ISRILBETBD /N TORIZHDEREZLIEIT S & R
2/ TIHEEEIRY 3500 Y—ILFy TEEFLTWET,

BENA=Y/ZHER ARF
1 2 3 4 5 6 7 | 8 ] 9
9590 | 0CFy T | 0CFy T |30 Fy T30 Fy 7| knoxta L #EAARIL B
KA TR RILE— | RILA— M4 M5x25 M5x20 M8x10
knoxta UM S& |MSx10 Ll | 2M@E/ 148/ 18/ 4@ 1@/ 148/
M5x25 47 |091502494| E>Y | 72542 | _d— | 455> BO" 7k JL A 0" AL A —
1+ hys—
mm BE BB BE BE BE BE BE BE BE
MF3-25
31.8 091502484 6 091502458
33.7 091502467 6 (size 1)
35.0 |091502485 6 i | 09102483
38.0 091502457 6 091502460
42.4 091502486 6 (size 2) | knoxfa L
44.5 091502487 6 Max1{8 |091502495 | 091502468 | 000488737 | 000983010 | 091500642
48.3 091502488 8 M5x20x 1 1@
51.0 |091502489 8 091502460 1
57.0 | 091502459 8 (size 2)
60.3 |091502490 8
63.5 |091502491 10
MF 4
44.5 091502487 6 091502479 | 09102483
48.3 091502488 8
51.0 091502489 8 knox#a U
57.0  |091502459 8 Max11E
503 09120249 ; W5 x20x1 g | 091502495 | 091502468 | 000488737 | 000983010 091500642
63.5 |091502491 10 1+
70.0 |091502492 10
76.1 |091502493 10




